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5.4 Ellipses

X Nerhces are o 2 g o6y .
Locate the vertices and foci of the ellipse (centered at the origin), then graph.
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Write an equation in standard form for the elli pse (centered at the ori

conditions.
5. Foci: (-6,0) and (6, 0); Vertices: (-10,0) and (10,0)

Which equation should you use?
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6. Foci: (0,-3) and (0,3); Vertices: (0.-4) and (0,4)

Which equation should you use?
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7. Major axis endpoints: (0,6) and (0,-6); Minor axis length: 8 units

Which equation should you use? y
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Locate the center, vertices and foci of the ellipse, then graph.
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Write an equation in standard form for the ellipse that satisfies the given conditions.

13. Foci: (3,-6) and (3,2)
Vertices: (3.-7) and (3,3)
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Minor axis length is 6.
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15. Foci: (4,2) and (6,2)

Vertices: (2,2) and (8.2) y
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REVIEW
Identify each equation asa parabola (p), hyperbola (h), ellipse (e), or circle (c).
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724. Draw and label the vertex, focus, both a values, axis of symmetry, directrix, and the latus
rectum (focal width) for the parabola (estimate where each part is located).




